AR

i

1851 8501 R |

i

&

&

i

&

ARG

AxoLr To
A0/ANY

Y51 oyleds an do

4 9 5o IS 4 09031 L 1) T 9 ;s i3l 18 4o

[NL

Olnl (Al (5550
S35 5 ik gl ©)l35

2535 23 e Bt

’V‘ e 550 615 sy o 15 BT 5500 @yghncsr 9 095 o
L

sl o @ (8) (e © pa> 4ol 31

-

1734 JW

7515 gy ol i spuiT |

(P11 4> s80 uY)

YY iy o = L8 g 19 buo dih s

.

B3 Voo 1 0 95 Bewly G

Lbd‘g.w o)l.n.& 9 K\ KeY] “;W.o‘ -5‘9.0 u|5..c

$o:Jl5mw Sloss

oobots G | oybes 51 | Jlguo ol (Sl Slgo 20

D)1 o 6 pod Q,o}i ol

bl 0 e Ol clilo 1 colisiuwl

[ wan Juw - oloc,l.gi ]

g0 Jlidy ) oyl coadliio by g wbly g0 e lajles ol some b el (SFgho g (Snd> (P (oolod 5210903 63155 3 g (oo g (5Sig 5N gy p 4y VI S g 85 0l 3>

IR R R R R R R R R R R IR R R R R R R IR R R R R R R R R R R R R

AN

i

&

i

i

R R R R R R IR R R R R R R R R R R R R R R R IR R R R R R R IR R

1851 81 R |

&

i

i

i

£14



(F1Q 4z 80 0S) VY aidy oS = olad g 2l9p asluo Ay yg03]

FaaS o0 45 Siliwl § g b (@b YT plus
39,8 9 @9l Olee - Lodas yao - il | (V Ly po — il — g y9laS ()
39,8 9 79l Olie - Ewolid - miwelds)f (F 39,8 9 79l Olie - Led sy — iwglas )| (Y
WS o0 Ll (g s gLl b V000 e lai )l Az jo j0 HLAS o YU gl Aol 4 asei b
fal b wir o559 5 (pgmaso gLl wyled byl 55 gial Y4,BY 1y ooy 5 L Lulidln axilin

j,o00 (Y Y4,0V0 ()

fio (f Olo (Y

Tl o0 Job 4l Wiz cayiie (gl SO L (00,5 4z 50 FO (sladads k= Slip Indicator <G o
Fo (Y Yo ()

Yfo (f VYo (¥

ol 123 9)lg0 5 QIS 952 cud e (JSeulSo Yoo i Yo g JSeuwghsS Y000 b Yoo (uils )80 zlgl
SHF 4 UHF (v VHF , HF (0

VHF , MF (f UHF , MF (¥

9 (20 ol ot Cawly B ybay Jols CDI wyie VOR il oolacw! cdl> jo HSI s Lis jo
el plas sOT FYVR-TY

el e G )0 g Y s a0 00 5l Glain a0 Jbo, ()

el o Ceoms 53 9 Vb @y a2 )0 iy 5l Glais g0 JUs, (¥

ol Conly Cows 50 9 YU 4y 4z 0 iy 5l Hlais a0 JUs, (¥

] Gy oo 10 9 YL 4y a0 00 5l lain g0 JUo, (F

(st gatmo Flo 30 (pguas ;0 390 plus

sm3n oL 1y e (6 ST okl ()

] Loslgn s s 4y g s yu S (F

el Jlow (SOl S350 @ iz (55 S (F

A3 oo (i Ggo Ct s 4y Cond |y Lo lgn ey (F

gl 50 1) o (o (Jg S (o0 s3ue (5L 5 kb (s SV 145 oo |) (olemlsp (patiis
Sl gl «dyS 18 a5l sykesksS £ gLl g (5 riogheS A I Alold 10 Lowylsr aSST amoay
fS (0 5lg 0 (Blo Cos L Lo lgn 0gilo o0 1) Los g2

o ¥ (¥ \F O

o (f \FoY

Pl D9l filew Bl Sty 45 Jogeyd igoigdle Eilmé SOl 50 (Jein 090 Gl
?Aﬁé‘@ dLOA' S50

e go cali b sl Jloignl by 51 (F ) ool s (¥
TS (o0 (Gt 4z lo) 59 30 41 0,00 3929 (6553l 9 3 JUELI (4] 50 45 (Seroliy g0 3 poicsns S (1 9 5]
b o rals adan (¥ Al oo Hiali8l dien (3

ile o uli (F Al os il L g dilo o i b (¥

flaw!l YL (> joigo )l s plas jo 1gn slos

Getys (¥ Gl abaima ()

g yeeS (¥ 9 Jib (f

Slol ey w,08 Auxiliary Power Uniform ()
Lawlsn sodgs a1y :Additional Product Unit (v
Lewlse S5 5550 :Auxiliary Power Unit (v
Lewlgn 3L 5550 :Additional Power Unit (f

-

-5

W

-1



Y axbuo (F1Q 4z 80 0S) VY aidy oS = olad g 2l9p asluo Ay yg03]

ol I oo SlxS 30 Lomlsp (Swbsogpl 550 Jxo (High Wing) YU Ju slalaylsa 5o

a,ls 41,8 (Longitudinal Axis)

d= (7 o=k O

YL (F oty (¥

(slme Sy 4 ol pd 51 Bl £ 9 adly (ol p3le Gl 3T piiune Slg b (6 3lue aziliz

O pdlae Glo) Wow Wbl Zme V1):io0o Cel buil Ao Cdg 4 sl 4 0959 9 Zme V00 el

(aloo +V:00 (sl sl g +HF: V0 Gigin 5 g 4 ol sl Floj IS foanl celes i

el G (¥ peigel oz O

Celw oo (F celw can (Y

fCwmaz (Stand Alone Cabotage) lgn o5

O Slan 4 sl oS a5 sgdie sl ()l plenlss GlacSyh 4 &5 cul plia golT ()
D9 eI g3 Egrie ;5iS 4 Slon LIl il aSul b i s sanSlhael joi5T I blas

Alod 5l ;eiS G SIS bli o aS 09 0 00ls (5 olen O  4y aS Sl op sl (Y

il 598 T 51 Jine 45 395 s 035 _lsn S 15 4y 45 ol 05 5 ot (gl3T S 3 (F

gl oo 03l alsr o818 S 4 B0 a5 ol 3LalS (F

Foo Cue b abolddly g uiS (o0 (b sl p poghss Foo ey b1y plodiol Gl 8 o (2 lowlgn

] Col 1 yioghss wir Loy lgd (1] buwgio Cas .33 )5 o0 3 sl 2 yiogles

doo (Y fAo ()

so (F OYo (¥

Flaw! plas bl ahld wl 89,9 a1 Lo lgn a5 e pw JSlos>

Vo / YW
V. =—pWCl .a (¥ V. = [—
min Yp o ( min Apclmln (
YW \
Vmin=‘/—ApClmax (f Vmin=?pw*Ac1a.a (v

€018 uSe St s o Ol i b S plaS (Drag) buy g9 55 &9 o 3
(Induced Drag) Wl sles (A

(Form Drag) s slus (Y

(Parasite Drag) o>!5e Luo (¥

(Skin Friction Drag) k. Sl slu (F

faul oo 381850 plas (S > Jlo )0 slomlgdr SO 50 o> arglj ul38l L
(Incident Angle) Ju ceas al; (Y (Stall Speed)  Salely e po ()
(A/C Speed) Luslga o > e poo (F (Drag) L, 55, (¥
Fgu 0 AiS 35 0 )lg0 3 SUplaS Conni 4 (Aspect Ratio) JU o o
b 55 & sl (¥ b Jsb 4 55 0
b Calss & 5y (F U Jsb 4 caslins (F
feww! plus (Re) julgs ) due ygmmilosd

pV/
D,y gaailags (Y —

1)

A A

P f P ¥
An 0

0 S o0 03Il 3l plaS b 1y gy S (092 Jo b g Sl ol 0
Fagalins (¥ Fagays ()

FoS e (Y Feog,l (F

-\Y

-y

-\¥

)

Y

-V

-\A

-1

—Y.

-




(F1Q 4z 80 0S) VY aidy oS = olad g 2l9p asluo Ay yg03]

S aw! |°|"\S s&)’l” M)‘a ..\"3
—adsS (Y oLe (
olg (F sy (¥

Ol @b 021es,S Juaso cdy YA Jrwiliy WS|4y (5 pw & yge0ds | @Tir 90 ¥Y Cooglio duw
Flaw! ol a0l YV Cooglio jo SO 5

\ oY (¥ o YA# ()

Vo Y (f QY (Y

Sl gzme (LS (9 Glomlgd S (pgas )0 390 pIUT (T Sl (ygumudl S Gallao
el 03,55 510l (6,15 cpogas(nlye S gl (O

bl 5lop O 518 2 walaie 1905 S5 losla) S g Wil e (F

alad 3l ol 3108 2 camlaie 1588 Syl g o3lal S (g0 Wlgi e (¥

sl gallai g LS (gl slalonylsn 8)50 50 Byo (SIS ¢y geanilssS (F

(e Lo Igo of o ool 932 < 23 0190 51 Sy plas

Lowlsa 5lon 535 ()

Lowslsa 5lg ol oalss (Y

Lowlgn x80 YT g yg3g0 51 oolaiwl anlialss (Y

Loalgn QLS 51 S o S oY slaaslialys (F

S AOC

oLl lsp Cedlo aslianlss (¥ Lozalg 5lgn Clils oalss ()
SJs s Sllas o il aslialss (F stlontln o8 15 ol aleS (F
flamad PILGT SBladl 51y 53 lg0 51 S plas

s jlanms 5| cbblas (Y B3lgy sl 5 Ceodlw ()

lor Jgdem Caio S92 g0 Cundy Laix (F &3S plenlsn T sl (F
Sl 3193 (sl po dolicdles pguas o (ANNeX) WSSl plus’

55 eSSl (Y Sy SO

oz oSSl (8 fs oS (Y

Flawl ool z 30 xS 50 (blow lgpd Cod ot pw Ol ) yio

Sed Glony ¥ (oS3 (F 62525 lealss plojle CAD (0

Lot o ool & e (F 6545 stlonslsd unsls gil5 (¥
i (s2l8 5l Jo 3 Sl SIS 93 3590 plas

caps O o1 Al

) Cr Cogu (F o5 AL (Y

Tl (S o i o105 41 b2 50 03595 (Sl £ 990

el (¥ Sy ()

&2,9l9n (F el (¥

Sl 105 (5 1) ST o0 o9 3 05

EP-OII (v OISS ¢

OIII (f EP-OIS (¥

Sl 10U 53 15 0,lg0 31 Syplas yio

EASA (v ICAO ¢

EATA (f IATA (¢

FuiS 0 yolo HguiS plus |y Lowylgn (Type Certificate) TC g o5 aolnlys

S55ige s il 5o Laslsa (1 S o Sl Ll 53 Laln )
Dgdisn yuwzy by Cud il ) Lalen (F Bedsr ddg g (b il ) Lelea (F

-Yy

-y

-Y¥

-Yb

-5

-Yv

-YA

¥4

-

-Yy

—yy

-y



(F1Q 4z 80 0S) VY aidy oS = olad g 2l9p asluo Ay yg03]

el 8,90 p‘.\f Y o ¢ G —YO

oy Sleas o ,Slas oL, (Y dolilsS jsaue ()

Silon 955 Ce>dlo aali (F Losalsn (55l 0 Cadlo dyaes (V
flmaS (2 lomlgd gilgw (o) 32 Jobwo (PLNYT (W55l Gillao Y7

ICAO 4 &oly 9 @‘5...» vy o)L)‘ ()

IIC f Olnl )5S slemlsn Hlosl (Y

(s 1) 0)lg0 j SeplaS gude l pl Hebs TV
(COPUOS) sxie o oylosls 57 slysbe (slisd 5| uolonlo onliciul agaS ()
(APSCO) ausilidl 5 Lol lid slas,San oylojlos (¥
(WTO) Sloz )l plojls (F
(WHO) b cuslag olojls (F
Sl o« Jl ! Glonlgd (59) Colo Cudle (pgas )8 8)g0 plus —Y'A
ol Islamic Iran caas. IR ()
ol 0o (s ICAO Lawgs s EP (Y
.ol Empire of Pahlavi i EP (v
<l Islamic Republic of Iran caas. IRT (f
] gz o lgd (Judo 5 (Sud @adle 750 Jomo (pguas )0 090 plus’ Y4
ol 25 9 «ied e byo ()
Lol 55, 52« @l By (Y
ooy Jb 5 5 o by «oud 5 Sde @dle (F
ez Jb s g ey by wod 5 e @dle (F
(ol gomo )90 plus SIGT )bl Gollo - Fe
ol (Accident) asls wed o35 Sodar lawlsn o las 5,85 S JBlas o1 51,0 a5 Sl ()
ool (Incident) wol> i o35 Gobas Lewlgn o ,8las 51 a5 SO o] 1 0 a5 Blast (Y
Do 7y Sl og Ses Jg wienl oolai &, Sl Incident) aisl> s (¥
ol ools caws 51y 843 ol a5 O PBla> (Incident) aisl> o (F
fCumsz (Geosynchronous) g ,SCwwsij jlow  —F)
ol ey 90,5 pl ] 50 olgnle (53,5 0,90 a5 el (5l ()
WS > 0 Do sy b baoslgale Jlas ol jo aS ol (00l (Y
el Iyl a3 3 Sgas g ol (pen mbline dab gllas a5 ol (5l (F
S o 2oy y ey 5 Sl oy olgan 45 el yioglS $8,000 5 iy glads by g e (F
fawl 390 plus io GNSS  -FY
Gabriel Navigation Software System (¥ Global Navigation Safety System ()
Gabriel Navigation Safety System (f  Global Navigation Satellite System (¥
famsl 4igfy (51 G331 50 1,000 58 (131 gy an>li 50 198 Glos —FY
S S gl a5 conl coli g (slos ¢ jauwgrg i 4l o ()
aslse hals oLF il 4z 0 ¥ (Y
alise Gl oL le az o ¥ (Y
Al oo ol ol )3 sile ax o 7 (F




(F1Q 4z 80 0S) VY aidy oS = olad g 2l9p asluo Ay yg03]

Sl plas (€ abails (gog0e Ko puti —FF

A= 5 glabo gl ¢ B = digucia¥l Yo « L= 55 Jsb o P = 0500 (5305 PL
YEA

L PL

L C EA

P YPL

EA

PL’
— (f
YEA

flaw! plas’ cOT 2 00,lg (Lift) Ty g9y 2lodld 41,8 8L Bgd 50 () wledbl Gullaoly Lgdpl -FO

4

4

p=|,nwla=\% . V=.>L3C.&).w=\'oo? ‘ Cl=.|').3g'«.3.),~5=o/A
m

S= Jucolm =00im’ « o= Jighyl alos aygl; =0°

yeo 4o JSL YYo (Y g Aoo ()
&roye y JBwly Aoo (F g Vo (¥
46- An Annex to the Chicago convention normally contains ................ .
1) only Standards

2) only Recommendations
3) Guidance Material only
4) Standards and Recommended Practices (SARPS)

47- The objective of an investigation in terms of ICAO Annex 13is to ................. .
1) determine system failures
2) allocate blame and liability
3) cover up any noncompliance with regulations
4) determine the cause of accident and to make safety recommendations

48- A mandatory requirement of compliance with an ICAO Annex provisions is

designated as ................ .
1) have to 2) may
3) shall 4) should
49- The state of ................ shall take all reasonable measures to protect the evidence
of an A/C Accident.
1) operator 2) occurrence
3) registry 4) design
50- Imall.............. accidents police shall be informed.
1) major 2) minor
3) fatal 4) serious
51- Actual life of an airplane is determined by ............... .
1) TSN 2) CSN
3) TBO 4) TTO
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52- The A/C weight and actual CG location is essential to ................. .
1) A/C design 2) A/C operation
3) A/C balance 4) all of the above

53- OEW stands for?
1) Occupational Environment Wave 2) Operation of Equipped Wedge

3) Operating Empty Weight 4) Over Estimated Weight
54- At the termination of flight, the pilot in command shall report all known or
suspected defects in the airplane to the ................ .
1) state 2) operator
3) ATC 4) owner
55- Flight recorder shall be switched off during .............. .
1) landing 2) En-rout
3) take off 4) none of the above
56- Who shall approve the formulation of flight time and flight duty periods in civil air
transportation?
1) State of manufacturing 2) Operator
3) State of operator 4) Pilot in command

57- Which of the following is the main limitation of helicopters?
1) Noise 2) Vibration
3) Low speed 4) Wind azimuth

Reading Comprehension:

Directions: Read the following passage and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

According to the NTSB, a unique and potential safety hazard has developed concerning
the wake vortices generated by Boeing 757 aircraft. From December 1992 to March
1994 there have been several accidents and incidents in which an airplane on approach
encountered severe wake-vortex turbulence while flying behind a 757. Thirteen
occupants died in two of the three accidents. In each mishap, the velocity of the core
vortices of the 757 were so strong and violent that they were able to force the following
airplanes into an unrecoverable loss of control. In two additional and separate instances,
the wake vortex of 757s threw an MD-88 and a 737 into a severe, induced roll. The crews
were able to successfully recover, but not before the aircraft dropped dangerously close
to the ground.

In light of the recent accidents and incidents, the Safety Board conducted a special
investigation to examine the circumstances associated with 757 wake-vortex turbulence.
The purpose of the report was to determine what improvements might be needed in
existing procedures to reduce the likelihood of wake-vortex encounters.
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58- According to the passage, which of the following is correct?
1) Severe vortex turbulence caused loss of life.
2) Vortex turbulence is very weak in Boeing 757 airplane.
3) Wing tip vertex is not considerable in Boeing 757 airplane.
4) Vortex turbulence of B 757 is severe because of improper A/C design.

59- Who determined potential safety hazard in B 757?

1) IATA 2) ICAO
3) Boeing 4) NTSB
60- Due to B 757 Wake-Vortex, .................. .

1) 2/3 accidents happen

2) MD-88 had been crashed

3) 13 people died between 1992-1994

4) B 737 had loss of control and crashed into water
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